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For which measures of the sides of AABC is angle B the largest
angle of the triangle?

(1) AB=2,BC =6,AC=T7
(2) AB=6,BC =12,AC =8
(3) AB =16, BC = 9,AC = 10

(4) AB=18,BC = 14,AC =5
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“The coordinates of point P are (7,1). What are the coordinates of the
image of P after Ry about the origin?
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Lines p and q are intersected by line r. as shown below.

? q

Ifmzl = Tx — 36 and m£2 = 5r + 12, for which value of x
would p || g?
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‘The endpoints of AB are A(3,—4) and B(7.2). Determine and state the length of AB in simplest
radical form.
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State whether the lines represented by the equations y =
yra=

~H(x = 2) are parallel, perpendicular, or neither.
Explain your answer.
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1f AABC and its fmage, AA'B'C, are graphed on a set of aves,
AABC = AA'B'C’ under each transformation except
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 Line € passes through the point (5,3) and is parallel to line k whose
equation is 5t + y = 6. An equation of line £is
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In the diagram below, RCBT and AABC are shown with m£A = 60
and mZABT = 125.

A

125°
R C B T

‘What is mZACR?




